10 113§ < F }_w@ﬁm% 2R 10
i § kN | F=w | =g | INP A % | B A
F;&%fb %ﬁ 5 ﬂ;; Tiap|Tias |Tiss IMP IMP | IMP IMP raﬁz B A B & | (MP)
IMP IMP IMP | £ & ?;;Jc B 7 fp? BT | # 2z MP MP Rt 7,
1 e 50 1120 | (8%) | 32 0.6 1.36 455.0 153.5%
1 /,f&f‘#:é 100 | 168 | 246) | (78) ] 68 | (0.8)] 65 |0.68 | 65 |766.0 45.1%]| 69
1 ek e 50 1120 | (8%) | 32 0.6 1.36 455.0 153.5%
1 }C’%\é\ﬁéﬁ 100 | 177 1 226) | (49) |1 59 1 0.5 ] 56 10.78 | 58 |765.5 145.0%| 70
1 THE 50 | 86 | (118) | (32) 0.6) 0.73 370.5 [43.6%
1 i 50 | 77 | a38) | 6 (1.2) 0.56 371.0 [43.6%
2 progEsr 1100 1289 [de 1125 | 1 |13 [ 3 1761 5 |881.5[51.9%| 25
2 ST 1100 1289 [ ded 125 | 1 113 [ 3 176 ] 5 |881.5 [51.9%| 25
2 g ] 100 1168 [ @700 Jaon | 78 1 A0 71 10.62 | 69 |727.0 [42.8%]| 77
2 prEzmsr ] 100 1168 [ @700 Jaon | 78 1 A0 [ 71 10.62 | 69 |727.0 [42.8%]| 77
3 G 60 1 91 | asm o[ 713 1ds5[79 1050 [ 77 1433.5 [42.5%] 79
3 i BB 60 1 91 | asn o[ 713 1ds5[79 1050 [ 77 1433.5 [42.5%] 79
3 BRI 70 1 93 | a9 jaon| 76 fds | 77 1048 [ 79 15305 |44.6%| 72
3 LI 70 1 93 | a9 jaon| 76 fds | 77 1048 [ 79 15305 |44.6%| 72
3 B 60 1 85 1 ase) )l an 65 1a2] 74 1054 | 74 1443.0 [43.4%| 75
3 PEIRE 60 | 85 |ase)f an 65 1an| 74 1054 [ 74 1443.0 [43.4%]| 75
4 PiETT 70 1181 | (ase) ) 25 [ 28 04 |25 J1.16 [ 28 1623.0 [52.4%] 20
4 Y4 1E 70 1155 o)) 47 [ 16 107 [ 12 1144 [ 12 |674.0 [56.6%] 3
4 =25 1 70 1155 o)) 47 [ 16 107 [ 12 1144 [ 12 |674.0 [56.6%] 3
4 =S 60 1182 | 65 J117 | 4 120 | 1 280 [ 1 ]588557.7%| 1
4 ENA 70 1199 | o f12s [ 1 118 [ 2 1269 [ 2 1677.51569%| 2
4 D=1 60 1164 | a4n ) 17 [29 103 [ 29 |1.12 [ 29 ]534.0 [52.4%] 20
5 B R SL 80 1183 Ja3n | 52 |12 107 | 14 J140 | 15 720.0 |52.9%] 17
5 FEEE 70 1199 @278 [ 7 111 | 5 J1.64 [ 9 1639.053.7%] 12
5 HECK 90 1192 |ase)] 6 [ 42 o1 |44 11.03 [ 46 1787.0 [51.4%] 30
5 = 80 1196 | 63| 33 |26 104 | 23 11.20 | 23 |702.0 |51.6%| 27
5 FRIRE 80 1172 1 a6 | 9 |36 101 |35 J1.06 | 35 1698.0|51.3%]| 33
6 P ek L 60 | 117 | a1 ) 4 [45 101 [ 44 11.04 [ 40 1509.0 [49.9%]| 41
6 Extailina 60 | 117 | a1 | 4 [45 101 [ 44 11.04 [ 40 1509.0 [49.9%]| 41
6 HEER 70 1154 Jaeb ) @ [ 51 1o.D| 50 1096 [ 51 |577.0 [48.5%] 49
6 JEArAlS 70 1154 Jaeb ) @ [ 51 1o.Df 50 1096 [ 51 |577.0 [48.5%] 49
6 HEE 70 1156 | ash ) 5 [ 43 101 |40 J1.03 [ 44 ]611.0 [51.3%] 31
6 SRAZR 70 1156 | ash ) 5 [43 101 |40 ]1.03 [ 44 ]611.0 [51.3%] 31
7 LGN 70 1161 | oo f 71 | 8 110 | 8 J1.79 [ 3 1637.0[53.5%]| 13
7 (e 70 1161 | oo f 71 [ 8 110 | 8 J1.79 [ 3 1637.0[53.5%]| 13
7 WEH 50 | 113 | (10| 11 0.2 1.11 432.5 150.9%
7 ESE 80 1196 | 79| 17 [ 29 102 | 31 J1.09 [ 31 ]664.0 |48.8%]| 46
7 ZIE 80 1196 | 79| 17 [ 29 102 | 31 J1.09 [ 31 ]664.0 |48.8%]| 46




10 1138 £ }_w@ﬁm% SR 10
n § kN 4 | F=w ) 2p | NP A % | B A
Ff 55, %ﬁ e | s | Tes |Tss IMP IMP | IMP | IMP | d| A4 | B4 |(MP)
IMP IMP IMP | 27 | Fpe | #6 | sk || MP MP bt 7,
7 MG 50 | 113 | (10| 11 0.2 1.11 432.5 150.9%
8 MZEE 90 1208 | 21| & [47 1D 47 1098 [ 47 |733.5 [47.9%]| 58
8 sERE 100 1202 | 208) ] 6 | 48 J©.D| 48 1097 | 48 |821.5 [48.3%] 55
8 wReesE | 100 | 202 | @0%) | ©) [ 48 .| 48 1097 | 48 |821.5 |48.3%]| 55
8 e 80 1184 1 031 (19 | 54 102 ] 54 1091 | 54 |633.0 |46.5%| 67
8 L7 30 | 56 | @8 | 8 0.3 1.17 271.5 [53.2%
9 BEE 11001205 [ 9] 7 [40 J o1 |42 J1.04 | 42 |8755|51.5%]| 28
9 BESFE ] 100 1205 1 a98) ] 7 140 01 | 42 |1.04 [ 42 |875.5 [51.5%]| 28
9 st 1100 1232 | @249 8 |37 101 |38 J1.04 |38 |865.5[50.9%] 36
9 2rE55 1100 1232 | @24 ] 8 [37 101 [38 J1.04] 38 |865.5150.9%| 36
10 ZEEEDE 1100 1223 [ (79 ] 44 [ 21 104 [ 22 1125120 1916.0 [53.9%] 10
10 2K | 110 1235 1 2000 ] 35 [ 23 1 03 [ 28 | 1.18 | 27 |##H##(53.7%| 11
10 AR 90 1172 | @18 | @6) [ 58 105 57 10.79 [ 56 1735.0 [48.0%] 57
10 g 1100 | 184 | 239 ] 55 160 | 0.60] 59 1077 | 59 1823.5 [48.4%]| 51
11 Spgag | 100 1245 1 1960 ] 49 [ 13 105 [ 18 J1.25 | 18 ]910.0 [53.5%] 13
11 FEMER | 100 1 215 | 18D ] 34 [ 24 103 [ 26 | 1.19 | 25 |886.0 [52.1%] 23
11 s 1100 1245 1 1960 ] 49 [ 13 105 [ 18 J1.25 | 18 ]910.0 [53.5%] 13
11 213 11001215 | a8h ] 34 [ 24 103 [ 26 J1.19 | 25 |886.0 [52.1%] 23
12 BEghEE | 100 | 184 | 249 ] 65 [ 63 1 0. ] 63 10.74 | 63 |823.0 |48.4%| 53
12 Bk | 100 | 184 | 249 ] 65 | 63 1 0.1 63 10.74 | 63 |823.0 [48.4%] 53
12 =EF 1100 ) 177 | @3) ) 6D [ 61 06 ] 61 1074 | 61 1814.0 [47.9%]| 59
12 BEfE 100 | 177 [ @3 ] 6D [ 61 0.6 ] 61 1074 | 61 |814.0 [47.9%| 59
13 SE 60 | 127 [ a4 @b |55 4] 55 1086 | 55 1494.0 [48.4%]| 52
13 B 80 1190 | 203 | (13) | 53 J©.2)] 53 10.94 | 53 |645.5 |47.5%]| 61
13 Gt 40 1 60 [ ©OD | 3D (0.8) 0.66 326.0 [47.9%
13 TRE 60 | 118 | (50| 32) [ 56 0.5 58 10.79 | 57 1483.0 [47.4%| 62
13 B{E 70 1127 | aee) | 39 | 57 1.6 | 60 10.77 [ 60 |534.5 [44.9%]| 71
13 R 90 J 140 [ @1 b |67 8] 66 10.65 | 68 |744.0 |48.6%| 48
14 Kiars 20 1 34 | 5D | 23 (1.2) 0.60 149.0 143.8%
14 Spigm | 100 | 139 | @67 |28 80 J a3 [ 76 10.52 | 76 |748.0 144.0%| 74
14 PZEE 10 130 [ a5 ] 15 1.5 2.00 98.0 [57.6%
14 NS 90 1233 [a3hH 199 | 5 11| 6 1174 7 |84451552%| 6
14 FEm 90 1226 | 3193 [ 6 110 [ 7 1170 [ 8 |838.0 [54.8%| 7
14 B EE L) 90 1128 | @hH ) e [ 75 1d.D| 73 1057 [ 73 1690.5 [45.1%] 68
15 FHE 80 1183 | (136) | 47 |16 0.6 | 17 1135 [ 16 1676.0 [49.7%| 44
15 Bk 17 85 80 | 194 | 63| 31 [27 104 |24 |1.19] 24 ]1683.0150.2%]| 40
15 e 60 1127 [ 8% 139 [ 22 107 | 14 | 144 | 11 |502.0 [49.2%]| 45
15 PR 70 1150 [a3e) ) 14 133 102 ]33 J1.10 | 30 §592.0 [49.7%] 43




10 1138 £ }_w@ﬁm% SR 10
n § kN | F=w | =g | INP A % | B A
I 5L %ﬁ e | s | Tes |Tiss IMP IMP | IMP | IMP | d| A4 | B4 |(MP)
IMP IMP IMP | 27 | Fpe | #6 | sk || MP MP bt 7,
15 HEE 50 | 144 87 | 57 1.1 1.66 467.5 155.0%
15 PR 60 1156 | (0 | 48 [ 15 108 ] 10 J1.44 | 10 ]550.5 |54.0%]| 9
16 P 100 1 214 1 203) | 11 |34 101 |36 J1.05 36 18725 151.3%] 33
16 EEE 100 1 165 1 250) | 85 | 71 1.9 ] 67 10.66 | 66 1798.0 146.9%| 65
16 B2 100 1 165 1 250) 1 85 | 71 1.9 ] 67 10.66 | 66 1798.0 146.9%| 65
16 B AT 100 1 214 1 203) 1 11 |34 101 |36 J1.05 36 |872.5151.3%] 33
17 USRS 70 1193 | a3 1 55 [ 11 108 | 11 J140 | 14 16725 156.5%| 5
17 255 th 50 | 138 | (105 ] 33 0.7 1.31 483.0 156.8%
17 (r 28 80 | 124 |1 205 1 B |1 69 1 .00 69 10.60 [ 71 J641.5 [47.2%]| 63
17 el 60 | 143 | (1351 8 37 101 [ 34 11.06 [ 34 ]1518.0150.8%] 38
17 PR IEHE: 60 1138 | (4| ©) [ 48 1.1 ] 50 10.96 | 50 |516.5150.6%] 39
17 TR 80 | 124 |1 205 1 B |1 69 1 .00 69 10.60 [ 71 J641.5 [47.2%]| 63
18 s 100 1260 | @14 ] 46 [ 19 105 120 J1.21 [ 21 18925 152.5%| 18
18 fr] = 100 1260 1 (198) 1 62 | 10 1 0.6 [ 16 131 | 17 1923.5 154.3%| 8
18 SR 70 1186 | (70) 1 16 [ 32 102 130 J1.09 [ 33 1622.0152.3%] 22
18 Sk} 100 1260 | @21H ] 46 | 19 105 [ 20 J1.21 [ 21 18925 152.5%] 18
18 SN 30 | 74 ] (28) | 46 1.5 2.64 301.5 [59.1%




